20

)
54
10 ()
18
H17 384, 701 H18 411, 164 H19 425, 010 H20 406,780
H17 137, 089 H18 135, 379 H19 135, 579 H20 122,383
H17 183, 330 H18 150, 060 H19 310, 542 H20 233,785
H17 62, 258 H18 63, 344 H19 67, 574 H20 75,503
20,000,000 20,000,000 100.0%
20
17 18 19 20
1 1
1 1
13 5 7 7
3 1 1 1
87 71 73 90
38 27 29 29
28 18 27 16
87 71 74 01
41 18 34 23
38 27 30 30
- 64.7 - 4.4 4,425
20 19
A) 1,755,260 (1,702,213) 18,230 (26,412)
®) 1,713,526 (1,685,897) 1,232 (7,286)
(A-(B) 41,734 (16,316) 16,998 (19,126)
41,734 (16,316) 0 )
95.8  (98.5) 53.3  (40.1) 26,797  (5,500)
102.4  (101.0) 202.9 (156.5) 677,160 (714,061)
35.8  (35.2) 14.5  (19.9) 0 )
1.8 (3.2) 4.2 (19.4) 0 )
3.1 (2.9) 0.0  (0.0) 0 ©
1.6 (2.5)

639,706 (593,012)

H16 9 H16 9
H17 H17 4
H17 5
H18 H17 10
H18 4
H17 12 -H18
H18 5
H19 23 H19 4
2.
3.
H20.
H17 12 - Hi8 1
19




18 19 20
(A) 1,654,465 1,702,213 1,755,260
13 60 70
0 0 0
1,603,894 1,678,136 1,722,817
9,784 43,082 28,724
10,020 4,344
9,784 26,412 18,230
6,650 6,150
(B) 1,610,914 1,685,897 1,713,526
1,562,333 1,632,618 1,683,193
1,544,821 1,660,334 1,641,364
581,890 639,957 629,422
48,581 53,279 30,333
135 11,672 10,423
6,841 6,830
C)=(A)-(B) 43,551 16,316 41,734
(D)
(E)
(F)=(D)-(E) 0 0 0
(G)=(C)+(F) 43,5551 16,316 41,734
(H) 31,241 74,792 91,108
()=(G)+(H) 74,792 91,108 132,842
®) 0 0 0
(K) 20,000 20,000 20,000
(L)=(2)+(K) 20,000 20,000 20,000
M)=(G)+(J) 43,551 16,316 41,734
(N) 0 0 0
(O)=(M)+(N) 94,792 111,108 152,842
18 19 20
301,247 255,085 264,479
0 163,062 190,579
22,161 22,161 22,161
20,000 20,000 20,000
20,000 20,000 20,000
0 3,184
2,161 2,161 2,161
323,408 277,246 286,640
228,616 162,954 130,344
0
228,616 162,954 130,344
3,184 3,454
0 3,184 3,454
228,616 166,138 133,798
20,000 20,000 20,000
74,792 91,108 132,842
94,792 111,108 152,842
323,408 277,246 286,640




